Low Speed High Torque Orbital Hydraulic Motors
(R KT ARG ik

SMPS/SMRS Series
Technical
Information

SMPS/SMRS
R ik

Jining Kersen Hydraulics CO., Ltd  vel: so) 537 2635138261377 Fax: (86) 537 2613277

{?IC ? %/I';K ﬁ?ﬁ }_‘Eﬁ IZE/!_\\ ﬁj Tel: (86) 537 2635138/2613777 Fax: (86) 537 2613277
2014-10



SMPS/SMRS Spool Motors

SMPS/SMRS Series SMPS/SMRSHHHC L s 15k

SMPS/SMRS &4
FE) TEEHER #g BiHE LI 3 xfk UM EME T HE ke =k
Pressure  NeedleThrust  Screws  Static seal Ball bearing Housing Drive needle Static seal Spacer Geroler £ =
Seal Bearing bearings Plate E:d Cap
e
Exclusion -

seal

Screws

7

Key
H ) .
S:waﬂ ” /i\

T ﬂ / T 5

BEEEk
Internal
check
valve

5-
N
=

SMPS AINDAR—HICAREDE, ERm:
SHPS series motors is spool valve motors , Characteristic features:

RALHEOERTSER, SHEDE, RS, SHEVR

Advanced manufacturing devices for the Geroler gear set, which use low

pressure of start-up, provide smooth, reliable operation and high efficiency

BLBRAWASIE, RESENED, BE BaNEaEEED

shaft use bearing , higher pressure , speed and higher radial force

RGN E, SEaREREED, 1iTE, FHEEA
Shaft seal can bear high pressure of back and the motor can be

used in parallel or series.

ZiPE=, BHH, BOSRREREN, 2EHE.

Fide variety of mounting flanges , shaft port and easy installation

2

2014-10



SMPS/SMRS Spool Motors
SMPS/SMR SHIFC L s T ik

» Specification Data

Continuous

Max.Speed . 1000 796 627 501 401 313 250 200 164 135 126
ReM (EZD

BERE 'Tfr@me)"t 1180 950 748 598 478 374 299 239 196 161 151
<

Continuous

Torque Nm - 115 144 184 230 287 324 406 507 495 600 641
(g

4 "?frrm'“e)"t 128 162 205 257 321 368 460 575 619 751 855
3

Maximum Case Pressure -- Without Case Drain (RiEspittsi OB, EEFSEAEXRSZSEH) ---90Bar

A simultaneous maximum RPM and maximum pressure NOT recommended

Maximum pressure or maximum RPM operation: 10% of every minute A A SCVE N AE R AR I Jy 1 00 T A
Recommended fluids: Anti-wear type of hydraulic oil. Viscosity recommended ff ’%ﬁj@ﬁﬂﬂ - TR T M AT A
37-73 ¢St. Recommended filtration 1ISO18/13. Maximum operating H10%

temperature recommended 80°C HEAEWE I : K N37-73cStid BEREE: 1SO18/13,5%
Special high pressure capacity shaft seal ensures back pressure up to 10 Gilseriifh EANVEIL80°C

Mpa. Recommended preferable back pressure 5 Mpa. Case drain line is ol T RS2 10Mpalf iy B, i Tk A
recommended when back pressure higher than 5 Mpa. When case drain line  snipa, #5e sMpaltt, s BAMINTAY . ik 2EE AT B
is used, make sure the motor is always filled with oil. The motor life is SEATR, ARTE AR N A LR s, LU ik A5
benefited from a case drain line. BL [ YA

Itis highly recommended that the motor runs at 30% of rated pressure for at .am w1y T 1 70 4 12 4T T 46 BA30% ) S 4 12 472401

least one hour before application of full load. Be sure the motor is filled with ANEE, LU T AR ST A T B
fluid prior to any load applications.

*SMPS Series Dimensions

SMPS R 44% R~
8 38 36 LISk 1n|
- ; 5 Case Drain Port:
st = 2w |20 B8 4w pmmn 9
ort A Port B g ane
flange 7 / Case Drain Port OrM14X1.5
// / Or G1/4"
it Or7/16-20UNF, " | =,
Shaft @ \
L 7
\ _
\ M
% / (E \
| f -
/ H i

] Ujj\u_u L
792
e

. I
imOsREr
Port
X 2-7/8-14UNF O-ring 2-MIBX15
2-1/2-14NPTF 2-M20X15
2-G1/2 {BSP) 2-M22X1.5
Y 23416 Owring 2PTI2




Ke BSE" SMPS/SMRS Spool Motors

SMPS/SMR S#HBC i i [ B ik

28.9 | 35.6 | 44.7 56.0 [ 67.9 | 72.0

X mm 9.0 11.5 14. 4 18.0 | 22.8
143.3 [145.8 |148.7 |152.4 |157.1 |163.2 |170.0 [178.9 |]190.3 |202.2 [206.3

Y mm

*SMPS Series Dimensions——Mounting
SMPS R FIVE 214 R

A

kO

k0
Pilot: (82535 2-(13.5

131. 4 max

106. 4
—1:‘_:;\
@

I @ i
l @
[

131. 4 max

55
55
C&D Case drain port
G1,/4 (BEF)
: .
i, MFAENRA2 2. A5 sMOE ar 1418720 e i
Groove Provided for 026 | 042 65 ar N14X1.§
;ﬁh&;':m / Grass seetion O-ring y
a \
| BN
VB B Par
3 \ Lorgleon H
3 J T || =
e 5 (i 3 H— 4 @
: g
- L i 2/
L=y X [ .
: | — | |
w0
—1 L A Port
[ 18 ERFERE ﬁm:_:- :
E ; Beraler width G
2- @13, 587 18 4.7 Standard Motor End Cap
135 Dia thru
{2) mounting Holes
BHE ¥ Nas
Wount
%8 ax. | Ko

2014-10



Ke BSE" SMPS/SMRS Spool Motors

SMPS/SMR S#HBC i i [ B ik

7826
WO e A
Port:
" 2-7/8-14UNF O-ring 2-M18X1.5
o
£ P44, 418
z == pilot Dia 2-1/2-14NFTF 2-M20X1.5
=« \ 2-G1/2 (BSP) 2-M22X1.5
2-3/4-16 O-ring 2-PT1/2
|
3/8-16UNC or M10X1.5
28. 4
* 2 4-5/16-18UNC or 4-M8X1.5
i E s -0/ 16~ or 4-MBX1.
Mounting ;fr§|_ng- deep 13 min
Surface | - \ Surface | . | _/
_ ', [ 7, e
ENID TYr L ;
NPy, T3] 1 == =
— |ne =" G iR osE !
_I\ Al _F‘orﬁ ] _i_ﬁ e | Part B | ~ ™
] :1ul) / Q A N uw [y
Part A/_ "\\ I\‘.-l_ :5 ﬁ..|.. b1 @
—HD ,_;/*—1 AN,
L £ 2
_ /| 1 %P\_\l-'/ K
S W E——} L A Y
42,7 42,7 p;l't

X mm 9.0 | 11.5 | 14.4 [ 18.0 | 22.8 [28.9 |35.6 |[44.7 |56.0 | 67.9 | 72.0
Y mm 146.3 | 146.8 [151.7 |155.4 [160.1 |166.2 |173.0 |181.9 ]193.3 [205.2 ]209.3

2014-10



K*RSEN SMPS/SMRS Spool Motors

SMPS/SMR S#h I 3t v [ 5 1A
*SMRS Series Dimensions IR 5

SMRS F A H )
8 38 36 —
#wOA | OB . H4a0
E= Part A L - portg MB 75 @0 Case Drain Port;
flange Casze Drain Port Mane
AN | V OrM14x1. 5
W | : Or61/4”
Shaft % | | 71T Fl [ | i Or TAG6-20UNF T,
H M T i j ' S Ao
= vff.g'i;""*_ 'L.\N_e ",
A | g =y = e Tﬂ =
W fat i =1 - el e
1 i ] " . [
— %, f Wy | =, - .-r‘;_-"
= W W, Ty &
Y B N2 ey S
| H ! :
| 3 2-7/B-14UUNF Q-ring 2-M1EX1.5
T 20 | 2p 2-1/2-14NPTF 2-M20%1.5
v 2-G1/2 (BSP) 2-M22¥1.5
2-3/4-16 O-ring 2-PT1/2
X mm 9.0 11.5 14. 4 18.0 22.8 28.9 35.6 44.7 56.0 67.9 72.0
Y mm 140 143 146 149 154 160 167 176 187 199 203
*SMRS Series Dimensions——Mounting
SMRS RFIE2ERE R
A B
1EA fism]
Pilot: @82.5-—335 2_21375 P\'Ot:ﬂaz.ﬁ-gﬁsia (
/
s -
o ,."/\_) N\ &2 \ 3
E = Il II,' ) N i
= & {rl— #K v, —H T =
) = el i/ =
-Q \\}\‘\\\ .@ T \ @ yi
i /
\\ I\-‘
55
- = 55

2014-10



K*RSEN SMPS/SMRS Spool Motors

SMPS/SMR SHl it s ik

Cc&D
2uZReE =
2 bolt flange Case drain port
50 EHW, BFRERRA2 62, AiZer ea0RE G1/4 (B3P

o
#182.55 g 45 pilot Dia Groove Provided for 82.6 1.0.«2 65
. -6 1.0.x2. 7/16-20 0~
Ty / Gross sestion O-ring ° e
; Shaft /
— . I o T
{ - I} B Porl 4
!
\ | /
1 i | Va
\ t*}—-,l |
\

3 A = 1N D
- o 1 R ]
: 1 3 - &
= j;ﬁlj el T
- = B ‘{\ [T ]
aEn ] =
A Port —
2- 913, 587 1o | Lo R
13.5 Dia. thru 28 42,7 EWTEE Standard Noter End Cap
(2) mounting Holes SEE L Geraler width
6.8 o, tourt
X mm 9.0 11.5 14. 4 18.0 22.8 28.9 35.6 44. 7 56. 0 67.9 72.0

Y mm 143.3 |145.8 |148.7 |152.4 |157.1 [163.2 [170.0 [178.9 [190.3 |202.2 [206.3

e g

Port:

2-7/8-14UNF O-ring 2-M1BX1.5

2-1/2-14NPTF 2-M20X1.5

2-GI/2 (BSP) 2-M22X1.5

83. 3max

2-3/4-16 O-ring 2-PT1/2

=
3/8-16UNC or M10X1.5 28. 4

e 4-3/16-18UNC or 4-MBX1.5
il =l deep 13 min
Mounting Mounting -

Surface Surface |

31,75

‘ N

Y4
ams S
EPort ]

REERE

o |
!22, 85
63.5

|
\

r’ﬂ'

b= /5-5"{“-/"‘]* L

2014-10



SMPS/SMRS Spool Motors

Dimensions ---Shafts SMPS/SMRS Series
SMPS/SMRS 2 #1) b1 i tH il ) ~T

2oy o8 Bl
= 2 3
ol B -5
&

@25mm EHH, FHEeXTXI2
25 mm Straight
Flat key 8X7Xx3z2 01

SMPS/SMR SHl it s ik

32

o ==1]

NEEEL
i A = 1
20min
42,7 G31.75mm FH, FIBET.06XT.96%32
55max 31.75 mm Straight
[ Flat key 7.06X7.96X32 05

T(_ﬂ

3/8~-16UNGC

— =

P31, 750 on

1121-33

®25.4mm B, TLEE6.35X6.3X32
25.4 mm Straight
Flat key 6.35X6.3X32 02

X1121-03

6-6.25+0.05

1-20UNEF
| E—
@A 75
|
—
7 )
NN
S
et

Y r=1:8 5

| E——
©31.75mm HEM, FSEET.06XT.06X32
31.75 mm Tapered Shaft

Flat key 7.96X7.96X32 06
1121-16

i M.
s |
$5 e
I |
= L
621, 470,07
_ L D35mm %, FIEEXEX20
s SAE 6B 7o 35mm Tapered Shaft
1in. SAE 68 Splined 03 12144 Flat key BX8X20 07
1121-31
45 5 38
|
| = = Maiea ™t
I T LA A
H-—AF-TFe| 3 i ELR S
| ] j = | o
| - 20
20 46
— ©32mm B, FER10XEX45 e 14—DP12/247E %
= 32 mm Straight Spiined 14-DP 1224
68 masx. Fiat key 1oxexss 04 2136

1121-17 -




SMPS/SMRS Spool Motors

1ETHWS, W
1 in. Dia. Straight with Foodruff Key

WHAE a
Wouriing Surtace

B, HiENm 4
HEAE. 35

1/4-20UNC-2B

SMPS/SMR SHl it s ik

T/3ET, B T
78 in. Dia. Straight

ERRE ——
Meourfing Surfacs

Shaft with Key 38
5.6/0.6
6. 355 75. 4 o | r'
6.35 Straight key [ o I
- ! ".I
5 1 2 |-
i |
P i
™1 3 |I

I
1121-19 Deep 14. 2 min 09 1 3
T/REEYT, SEA B R, 13TTEEE
SAE GB{TEEH 7/8 in. Dia. SAE B Shaft BERE —
SAE 6B Splined Shaft 1% T Splined Mauniing Surlacs
38
56596
1305 —™
w — o o
2 \
y .
g = P |
8 P4 F 1|
1,/4-20UNC-28 gl B
Deep 14.2 min 10 < 14
L=

1121-25

EHi21Z2T, B, 0.5 TEENEERN
1 in Dia, Straight Shaft

with . 315 Dia. Crosshole LHAE

Mouniing Surlace

Ay
=
Ly ]
e
112126 $8=0 05 1 1
HiZ1#Y, 59 J30 eETEEOESERNL
1 in. Dia Straight Shafi
with 406 Dia, Crosshole _...
Moumisg Surece
45
—
6, 674, 6
—r-—
]"-.I ?10. 3£0.05

|
|
|
-

' -
1/4-20UNC-28

112127 Peep 14. 2 min

12

2omm i, HHFEEaFEaIH

Zomw [MMa. Straight Shaft wEEn
with Bmm Keyway . Sufhce
50
oW

—
25
[ i _‘ \"._
L1 11T
- |
1
i 4 )
MEXT. 25-6H
Deep 16

205,
2800

15

1371, #f8, WERFRES
I in. [Ma Tapered Shaft
with Woodruff Key and Nut

_ F.8°80.2

B.4/71

il

7

G5 40,0
|
i
i
|
T
— o

2014-10



K*RSEN SMPS/SMRS Spool Motors

SMPS/SMR SHl it s ik

Permissible Shaft Load For SMPS/SMRS
SMPS/SMRS F %l 471 28 25 VP8

N F:
e 800 20000
8000 : : : ; : : : l "
2000 L_,- . T ]
ather shaft versions o [ z [+ |
N~ | 1500 N =] LA ‘
G000 ] \ | SL_ha, ]
. |
\ | | 1 F
i 2000 N e
Fr= @37 M Radial Force
L= EE® rmm Distance
2000 | | ! [ ! r= B rpm Speed
[ cylindrical shaft 32 mm and 1174 |r|--- i | 2EE= L=10=m
.= 2 bolt flange
0 = min AR L=24am
0 200 400 600 800  (rpm) 4 balt flange
SMPS/SMRS Standard Rotation
SMPS/SMRS 1y i b i 7]
) ks = Iy s :I ¢ e SR Standard Retation
- - pa ] MEHRRE Viewed from Shaft End
\ '-"'I & Pt o + / """-I e HOMNHEDE---BRYE Port d Pressurized [
— \l ol 1 HOBHEN B IPIFHIENE Port B Pressurized — OCW

10

2014-10



SMPS/SMRS Spool Motors

Order Information

THRER

S M [P/R] S

SMPS/SMR SHl it s ik

Position 1,2,3 , 4---SMP/RS Series Motor
1, 2, 34008, FIRSMP/RSFRS ik
Position 5,6  ----Displacement, cc/r

W5, oy, Rk

01 ——- 50 04 — 100 07-—200 10 -—-370
02 —- 63 05 125 08-—-250  11---395

03 -—--80 06 ----160 09 ----305
frE 7. dEZERIEN
Position Flang and pilot
AL 2L, 1EE @ 82.5X8mm.
2 bolt flang, pilot P 82.5X8mm
B..... 4fLZJBLE, 1 H ©82.5X8mm.
4 bolt flang, pilot ® 82.5X8mm
C.....24LZ 8L, 1k @82.5X2.8mm.
2 bolt flang, pilot ® 82.5X2.8mm
D.....4fLZE 2, 1EH ©82.5X2.8mm.
4 bolt flang, pilot® 82.5X2.8mm
E......4-3/8-16 Jji&*%, 1k ©44.4X2.8mm.
4-3/8-16 Square flang, pilot®44.4X2.8mm
F.....4-M10X1.5 75952, 1E11 ©44.4X2 8mm.
4-M10X1.5 Square flang, pilot ®44.4X2.8mm
g 8 9. A
Position Shaft
01..... ®25mmEH, FH8X7X32
@ 25mm Straight Flat Key 8x7x32

00

2014-10



SMPS/SMRS Spool Motors

SMPS/SMR SHI L it i = Hy ik

...... D25 4mmE 5, “FH6.35X6.35X32

®25.4mm Straight Flat Key 6.35x6.35x32

...... SAE 6B {¢/#i,

1 in.SAE 6B Splined

...... O32mmE 4, “FEE10X8X45

@ 32mm Straight Flat Key 10x8x45

...... ®31.75mm B4, J7H7.96X7.96X32

®31.75mm Straight Flat Key 7.96X7.96X32

...... ®31.75mm#ER, J7H#7.96X7.96X32

®31.75mm Tapered Shaft Flat Key 7.96X7.96X32

...... O35mm#EH, J7H#E6X6X20

@ 35mm Tapered Shaft Flat Key 6X6X20

...... 14-DP12/24 {ekH,

Splined 14-DP 12/24

...... D254 M, HAH:

lin.Dia. Straight with Woodruff Key

...... SAE 6B ft g4,

SAE 6B Splined Shaft

...... HAE®254, Hih, A O8HEARKEE AL

lin.Dia. Splined Shaft with0.315Dia.Crosshole

...... HAED25.4, Hih, A O105~F HAN T EImAL

lin.Dia. Splined Shaft with.406 Dia.Crosshole

...... 7/85E~F, HA, P

7/8in.Dia. Straight @ Shaft with Key

...... 7/895~), SAE Bffiii#ill, 13T{t#t; 7/8in.Dia. SAE B Shaft 13T Splined
...... D25mm 4, H 4 8mm i 1B A

@25 Straight Shaft, with 8mm Keyway
D25 AHER A A1 ] A BEAIR B
lin.Dia. Tapered Shaft, with Woodruff Key and Nut

1}2

2014-10



K BSE" SMPS/SMRS Spool Motors

SMPS/SMR SHI e it i = Hy ik

Positionfi7 & 10...... porti [
A......G1/2(BSP)

D...... 7/8-14UNF O-ring
E...... G1/2 O-ring
F...... M22X1.5
G......4-5/16-18UNCHR % #%
H......4-M8X1.5H i %
I...... PT(RC)
Jo... M20X1.5

Positionfi/ & 11...... 75 -1 Drain port

0...... JG none

I...... Gl/4
2., 7/16-20UNF
3...... M14X1.5
4.....PT(RC)1/4
5...... M20X1
Positionfi/ & 12...... i th Paint
A AR no paint

B...... FRYE W . Blue
C...... PRUERE (S Black

Positionfy &  13...... Motor Rotation Bk Jig % J7 [

Viewed From Shaft End T X A S e 2l g

A —Port A Pressurized CW AV EVHETE Sy, G g i

B — Port A Pressurized CCW A EAHEE Sy, W e
8

2014-10



K*RSEN SMPS/SMRS Spool Motors

SMPS/SMR SHITC L Ly 12
SMPS Series Order Information

7/8-14 O-ring 111m1010 1011 1012 1013 101a 1014 1015 1016 1017 1018 1019

1lin.Straight
1/2 NPTF 111m1020 1021 1022 1023 102a 1024 1025 1026 1027 1028 1029

w/Woodruffkey
Manifold* 111m1030 1031 1032 1033  103a 1034 1035 1036 1037 1038 1039
7/8-14 O-ring 111m1110 1111 1112 1113 11la 1114 1115 1116 1117 1118 1119
1in.SAE 6B
Szl 1/2 NPTF 111m1120 1121 1122 1123 112a 1124 1125 1126 1127 1128 1129

Manifold* 111m1130 1131 1132 1133 113a 1134 1135 1136 1137 1138 1139
2Bolt Flange

7/8-14 O-ring 111m1210 1211 1212 1213 121a 1214 1215 1216 1217 1218 1219

lin.Straight Pin

1/2 NPTF 111m1220 1221 1222 1223 122a 1224 1225 1226 1227 1228 1229
hole ©0.31

Manifold* 111m1230 1231 1232 1233 123a 1234 1235 1236 1237 1238 1239

7/8-14 O-ring 111m1310 1311 1312 1313 131a 1314 1315 1316 1317 1318 1319

lin.Straight Pin

1/2 NPTF 111m1320 1321 1322 1323 132a 1324 1325 1326 1327 1328 1329
hole ©0.4

Manifold* 111m1330 1331 1332 1333 133a 1334 1335 1336 1337 1338 1339

7/8-14 O-ring 111m2010 2011 2012 2013 20la 2014 2015 2016 2017 2018 2019

lin.Straight
1/2 NPTF 111m2020 2021 2022 2023 202a 2024 2025 2026 2027 2028 2029

w/Woodruffkey
Manifold* 111m2030 2031 2032 2033 203a 2034 2035 2036 2037 2038 2039
7/8-14 O-ring 111m2110 2111 2112 2113 21la 2114 2115 2116 2117 2118 2119
1in.SAE 6B
Splined 1/2 NPTF 111m2120 2121 2122 2123 212a 2124 2125 2126 2127 2128 2129

Manifold* 111m2130 2131 2132 2133 213a 2134 2135 2136 2137 2138 2139

4Bolt Flange
7/8-14 O-ring 111m2210 2211 2212 2213  22la 2214 2215 2216 2217 2218 2219

lin.Straight Pin

hole @031 1/2 NPTF 111m2220 2221 2222 2223  222a 2224 2225 2226 2227 2228 2229

Manifold* 111m2230 2231 2232 2233  223a 2234 2235 2236 2237 2238 2239

7/8-14 O-ring 111m2310 2311 2312 2313 23la 2314 2315 2316 2317 2318 2319

lin.Straight Pin

hole 30 4 1/2 NPTF 111m2320 2321 2322 2323 232a 2324 2325 2326 2327 2328 2329

Manifold* 111m2330 2331 2332 2333 233a 2334 2335 2336 2337 2338 2339

04

2014-10



SMPS/SMRS Spool Motors

SMPS/SMR SHIPEL It i Hs ik

SMPS RFILEITH#ER

7/8-14 O-ring  111m1010 1011 1012 1013 10la 1014 1015 1016 1017 1018 1019
4
ETI? 25.4%, 1/2 NPTF 111m1020 1021 1022 1023 102a 1024 1025 1026 1027 1028 1029
FEE
W ERE 111m1030 1031 1032 1033 103a 1034 1035 1036 1037 1038 1039
7/8-14 O-ring 111m1110 1111 1112 1113 111a 1114 1115 1116 1117 1118 1119
HZ0254,
SAE6B 47 |1/2 NPTF 11Im1120 1121 1122 1123 112a 1124 1125 1126 1127 1128 1129
L5
R &R 111m1130 1131 1132 1133 113a 1134 1135 1136 1137 1138 1139
27k =
7/8-14 O-ring 111m1210 1211 1212 1213 121a 1214 1215 1216 1217 1218 1219
% #h 3
025440, sk 1/2 NPTF 111m1220 1221 1222 1223 122a 1224 1225 1226 1227 1228 1229
MAL9 7.9
Wt 111m1230 1231 1232 1233 123a 1234 1235 1236 1237 1238 1239
7/8-14 O-ring 111m1310 1311 1312 1313 131a 1314 1315 1316 1317 1318 1319
02?'4%' ik 1/2 NPTF 111m1320 1321 1322 1323 132a 1324 1325 1326 1327 1328 1329
WO 10
W EE 111m1330 1331 1332 1333  133a 1334 1335 1336 1337 1338 1339
7/8-14 O-ring 111m2010 2011 2012 2013  20la 2014 2015 2016 2017 2018 2019
4
ETI\Q, 25.4%4, 1/2 NPTF 111m2020 2021 2022 2023 202a 2024 2025 2026 2027 2028 2029
FEE
WRERE 111m2030 2031 2032 2033 203a 2034 2035 2036 2037 2038 2039
7/8-14 O-ring 111m2110 2111 2112 2113  21la 2114 2115 2116 2117 2118 2119
HZ0254,
SAE6B 47 |1/2 NPTF 111m2120 2121 2122 2123  212a 2124 2125 2126 2127 2128 2129
5
WRERE 111m2130 2131 2132 2133  213a 2134 2135 2136 2137 2138 2139
4Lk =
7/8-14 O-ring 111m2210 2211 2212 2213  22la 2214 2215 2216 2217 2218 2219
025440, ik 1/2 NPTF 111m2220 2221 2222 2223  222a 2224 2225 2226 2227 2228 2229
LS 7.9
W ERE 111m2230 2231 2232 2233  223a 2234 2235 2236 2237 2238 2239
7/8-14 O-ring 111m2310 2311 2312 2313 23la 2314 2315 2316 2317 2318 2319
®2§'4¢m' filisk 1/2 NPTF 111m2320 2321 2322 2323  232a 2324 2325 2326 2327 2328 2329
L9 10
R E = 111m2330 2331 2332 2333 233a 2334 2335 2336 2337 2338 2339

18

2014-10



K*RSEN SMPS/SMRS Spool Motors

SMPS/SMR SHlI i i ik
SMRS Series Order Information PG IAT I s

Staggerred port 360380 0381 | 0382 | 0383 | 038A | 0384 | 0385 | 03se | 0387 | 0388 | 0380
Straight ®25|M18X1.5 No case drain

Flat key 8 [Staggerred port G1/2

, No case drain
Aligned port G1/2”Case
Straight @ |drain M14X1.5

25.4 Flat [Staggerred port
key 6.35® |M18X1.5 No case drain

136m0390] 0391 0392 | 0393 | 039A | 0394 [ 0395 | 0396 | 0397 | 0398 | 0399

136m0400] 0401 0402 | 0403 | 040A | 0404 [ 0405 | 0406 | 0407 | 0408 | 0409

136m0410] 0411 0412 | 0413 | 041A | 0414 | 0415 | 0416 | 0417 | 0418 | 0419

25.4
2 Bolt Flat Staggerred port G123 0450] 0421 | 0422 | 0423 | 0424 | 0424 | 0425 | 0426 | 0427 | 0428 | 0420
Pilot ®82.55 , No case drain
Pilot Straight 25 Aligned port -
Flat key s [NPTF12Case drain  |136m0480l 0481 | 0452 | 0483 | 048A [ 0484 | 0485 | 0456 | 0487 | 0488 | 0489
M14X1.5

Straight @ |Aligned port G1/2”Case
25.4 Flat |drain G1/4

key 6.35® |staggerred port 7/8-
25.4 14UN , No case drain

136m9510] 9511 9512 | 9513 | 951A | 9514 [ 9515 | 9516 | 9517 | 9518 | 9519

136m9810] 9811 9812 | 9813 | 981A | 9814 [ 9815 | 9816 | 9817 | 9818 | 9819

Straight ®25|Staggerred portGl/
Flat key 8 |2 Case DrainGl/4

port M18X1.5 , No

136m9390] 9391 9392 | 9393 | 939A | 9394 [ 9395 | 9396 | 9397 | 9398 | 9399

4 Pilot _ - 136m0010| 0011 [ 0012 | 0013 | 001A | 0014 | 0015 | 0016 | 0017 | 0018 | 0019
Flange, pilot Straight 25 Caseldiain
80 Flat key 8 MIBXLS, Case ;36100200 0021 | 0022 | 0023 | 0024 | 0024 | 0025 | 0026 | 0027 | 0028 | 0020

DrainM14X1.5

SMRS RFIGiXiTHE R

sMAMI18XL1.5,
136m0380] 0381 0382 | 0383 | 038A | 0384 0385 0386 | 0387 | 0388 | 0389
D25, |

T8

WhEIGL2, pyitit[136m0390] 0391 | 0392 [ 0393 [ 039A | 0394 | 0395 [ 0396 | 0397 | 0398 | 0399
A,
G2,k |136m0400] 0401 | 0402 | 0403 | 040A | 0404 | 0405 | 0406 | 0407 | 0408 | 0409
®25.41H  [M14X1.5

B, PHE [ilIMIBXLS, 136m0410] 0411 | 0412 | 0413 [ 041A | 0414 [ 0415 | 0416 | 0417 | 0418 | 0419

6.35 P i
2fLEE L, JITGL2, Pyl [136m0420( 0421 0422 | 0423 | 042A | 0424 | 0425 | 0426 | 0427 | 0428 | 0429
1EF182.55 D25 A,
’ CINPTF1/2,3t [136m0480[ 0481 0482 | 0483 | 048A | 0484 | 0485 | 0486 | 0487 | 0488 | 0489
TS JIM14X1.5

Ak,
@254 |HGL2 000 [136m9510) 9511 | 9512 | 9513 | 951A | 9514 | 9515 | 9516 | 9517 | 9518 | 9519
R

635 M7/ 136m9810] 9811 | 9812 | 9813 [ 981A | 9814 [ 9815 | 9816 | 9817 | 9818 | 9819
4UNF, pyiitt

D25, | GL2 ik
S [Gl/4

136m9390| 9391 9392 | 9393 | 939A | 9394 | 9395 [ 9396 | 9397 | 9398 | 9399

o YEHDMH%XI'S’ 136m0010[ 0011 0012 | 0013 | O01A [ 0014 | 0015 [ 0016 | 0017 | 0018 | 0019
4 fLrids, 1P| P25, P P
D80 8 A EIM18X1.5
it (EDMMXI 5 7 |136m0020| 0021 0022 | 0023 | 002A | 0024 | 0025 [ 0026 | 0027 | 0028 | 0029

16

2014-10



*SMRSW Series Dimensions

SMRSW Spool Motors
SMRSW LT s Ty ik
SMRW H 414 T
FriEEa CEEk Mt I WREE E#RTeoR S EsW 2k ERTH BEER
HexNut  key shan  F5E TS pearing Housing Drive  Intemal  Geroler Cap Sorew
Y ! | Ring, —oond / ! { ﬁﬁﬂk f /
! \ | Retaining |I / / / / valve /
\-\\. lII |II | | ;..-" '—"|'|'|'|'|'|'|'|' ,-"lr II. l."'. ,-ff x /
\\_‘ ||I II | | .I.; /! : II| I- ! / ri II.r
\\\ l|II I|II | / % | / ! s
NV s | T ///;/

r

- -

I

*

i\

"
7

N

Y

[

[
sai i
OME wEH wx R
Q-nng  seal pressure R‘:;:;er m;

*SMRS Series Dimensions——Mounting

SMRS Rk H R~}

7.7 NN\ 77,
[ |

\
\ \
\
\
'
Y y
! \
kY

\

\

| ! \ \
IS5 ORIE [RfIk FE

Spacer Plate Q-ring

Spacer End Cap

4= [13.5

W0 5l Case Drain
EAEE T/8-14UNF-2B O-ring M14X1. 5-6H
Mount ing / Or G1/2(BSP) OR G1/4" .
o Surface OR 7/16-20UNF-2B O-ring
/
shaft . 7
\ Fort B / I
| LZA B/
A | Ji . E] i
o s /

= Ll £ =/ a8
RS —lw-- S I — L 8
g =l = ) = 5 &
TTH ot (g 1°

U | [N g

FOA 1
Porl 4

7. 3min 19

B N

47401 a7

139. 1

145. 9

X mm 9.0 11.5 14. 4 18.0 22.8 28.9 35.6
Y mm 119.3 |121.8 |124.7 [128.3

133. 1

67.9 72.0

178. 3

07

182. 3

2014-10



K.BSE" SMRSW Spool Motors

SMRSW TR ik
*SMRSW Series Shaft Dimensions AL LS

SMRW 81 4 i 42 J~)

B WS (S0RTS)
i b O 837
il
i IR 2004 Whim
'!' f ¥ HE: 1: 10
— A A A O o BN
o i T 4 O BEES

-—
M20X1. 5

T — | 1 I | i —t Tipered shart 1 mm (IS0HR 7740
| Tighvommy fanque:
A I - 6 00 £ 1% Mo [ T &S Win]
Tapser 110
Farallef ey BS ' & 5 20

20
[ |"1-3-" THN R8T
36 4

" I 1. 255 izt Tapered shait 1 14 in Cone 1:8
. 1. 8 SAE J501
SAE J501 I-20 UNEF
1-20UMNEF Across flas 1 7016
wEFORTITA8 Tightzning torque:
FENIE: 200+ 10Nm 200 L 10 Nm [1770 £85 Ibfin]
RS e, e Parallel key
SAE J50 S X A6 x 114

SAE J501

35

Order Information

ITHfE R

Position 1,2,3 ,4, 5---SMR Series Motor
$1, 2, 3, 4, SAiEY, RKIRSMRSW R A
Position 6,7  ----Displacement, cc/r
05, ofi iy, o HisHE
0l ---50 04---100 07----200 10----370
02 ----63 05---125 08----250  11----395
03 ----8  06----160 09 ---- 305

118

2014-10



K BSE" SMRSW Spool Motors

SMRSW it /7 ¥i& 1. By ik

Position 8 ,9 ----Shaft %

01——35mmTapered Shaft, Taperl:10, Parallel Key6X10
35mm#EEAT, HEREL:10, “PHE6X20
1. 25In Tapered Shaft, Taperl:8, Parallel Key5/16X1-1/4
31.75mmHERE R, HERZ1:8, ~FHE5/16X1-1/4
Position 10 ----PORT i I]

A——7/8-14UNF “O”——Ring

7/8-14UNF i1, O™ [ % &
B——G1/2BSP

02

Position 11 ----Case Drain Port ity ™

0——none G

1—Gl/4
2——7/16-20unf “O”-ring
3—M14x1.5

4—PT (RC) 1/4
5——M10X1

Position 12 ----Paint WHAHI
A no paint AW
B—Blue FrifEii(h
C—Black #rifi it
Position 13 ----Rotation Direction Jig%% Jj ]
A——Standard F5ifE
B——Opposite J% [

19

2014-10



